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Guided Practice for the lesson “Reason Using

Properties from Algebra”

1 4+9--3t2 G

45494 3x = ~3x+ 2.+ 3 Addition Proerty of
Equalty

5 Simplify.
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7+9-9=2-9 ‘Subtraction Property of

Equaliy
Simpity.
Division Property of
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2 146430 -9= -1 Given
Vet 21 - 3= -1 Distibutive Property
2= -1 Simpity.
Ix+21-21= ~1 =21 Subtrction Propery of
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lx=-22  Sipliy.
x=-2 Division Property of
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4. Symmetic Property of Equality
5. Transitive Property of Equality
6. Refleive Property of Equality
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9.2+ 05c=16 Given
2= —05x+ 16 Subiraction Property of
Equalty
¥= 025048 Division Property of
Equalty

Given

~2  Subtracton Property o Equaity

e +8 Muldplicaion Property of
Equiliy

1048 = 20, then 4B + CD = 20 + CD.

1tm21 = m22, thenmd2 = m1.

1648 = CD, then 4B + EF = CD + EF-

I6S(:+ 8) = 2, then Sx + 40 = 2

Itm21 = ml2wndme? = 3, thenm el = mE3.

1 step 2, the Subtraction Propety of Eguality should
have been used instead ofthe Addition Propety of
Equaiy

BERBRNY

Given
Subtraction Property of Equality
Division Property of Equality

. Answers will vary.

‘Equation (Reason)

4D = 4B, DC = BC (Given)

AC = AC (Reflexive Property of Equality)

AD + DC = 4B + DC (Addition Property of Equality)

AD + DC = 4B + BC (Substitution)

AD + DC + AC = AB + BC + AC (Addition Property
of Equality)
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